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2-4.6
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By expanding the matrix and finding the determinant, it is straightforward to prove that
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2-15.7 proceeding as in problem (2-15.6), we ob+ain
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3921 T, ferms of T, T, (principal steesses)
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[ 4-7.5 |
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7-10.5 cont’d
Teem Yo E%.(4) 5 ¥V oin the focm
A
_ &6 r=cos 28 > ™\ cos 5)'
V= P e L AR € A@] ©

The -C§rs‘\' C\C&A.(‘Hov\cn\ *erm ivx"\"\r\e \O(‘O\C—\(Q'{' O‘c
E%. (5) reduces o @2—_@—‘:— foc @‘:i 92(‘ . ‘D\ere‘\tore)

e T tecwm E%.(S) must vanish \C\or(:vi °‘;_ .

Hence, we re_cbu[\rc

A = nTY ‘por‘ n=13,5, ... (6)
\Jxemce.)
- T - .
o n
[ _——-;?(fsz ) 4 QZZ A (5)" cos _é-u 1 (7)
o3 n=l3

To so- ‘Sj“( E% (3), Ecb (7) ylelds

il Cos 23
T A, cos T - T (®)
By Fhe Meblod of  Foucier secies (seckon T-10),
we £nd
\<oo< el

"An- -1) & |

|
n(n+ %‘-‘Xn— %—f_“-—)

Hence, “he resuld ‘3u}én w Problen T-10.5
(s obtained,

DOWnL@d—fV:: fu:u fl\.llll dTrToVWCTSUTT.CUITI




	CH1-4



